EESTI KOOLISPORDI LIDU UJUMISVOISTLUSED

KOOLIDE ARVESTUS

Kovik\ oy

N

KOOL 8- 9.kl. 6.- 7. kl. 1.- 5. kl. 8.- 9ki 6.- 7:kl. 1.- 5:kl. V+ P 8.- 9_.kl. 6.- 7. kl. 1.- 5. ki 6 tul. 6 x 50m | 6 x 50m | PUNKTE | KOKKU | KOHT
50 vab. 50 vab. 50 vab. 50 rin. 50 rin. 50 rin. 50 sel. 50 sel. 50 sel 3T+3P vab.T vab.P

AR = e 5y — e p— — . O | =3 — — — O 39, o) O |9 | 1D | M.
yooL  plaD 2| — () b — i ~

A X2 BERG Tgo% R OEEERC o% %_@_1 3% (Hg) B33 | 434 QLQ! 455 29 (4, 229 128 = R | 848 1930 | 8.

b, GUMN. p{ZP), 2), 39 (39), 26 3+ LYy, &D, 32, 3¢ (26,35

AVINRME  TI2D_ [29), (:L 34 (188 |3%), ] 29), 163 354 <2>33. 30), 35), M (184 | 49 R | 0 [536 [354 [ 4a.
cumn.  p[3 [30) | (39 (5, {29) S/ R

vuusaLy THY 45 (48) 42 ﬂ he |88 (49, 4e [(5) 4> &) Mo lagy |53 Y'f%j 4y (43 Hg 54), 48 [439 | 232 lod | 92 [Ao9y 4234 ]
¥y FEE% (g 4 [9) 46 by {(H3), 45 {49, e 57, 4% |

LaheR) TR Mo (HD Mo 45y 4o (e (4, >3 @@ H:V (3, 2 [964] 526 %) 4o HJJ. 1»? Yoo 45 |65 | A5 96 96 [loYy (12346 | D
kool p{e) U5 (38, 33 [45), HA (4. 15 (o). 33 Yo, 3¢ N5 . 43 (44,39 M, B

LoksA g i [39 s (3D 2> [aas|ls) Ha, 5). 31+ (2D, 30 [a33] 453 (4g) ), 22 [4D) 29 [ahs| 22 Y 92, 1924 [Mio] ]},
civn. el 29 (29 3 {o5) 2 | (4, o (3, 31 (W, 30 44,29 [29 a8 |45 3f _

PeeTR) TL_— (59 49 g8 | — Gy | — healeyr| — d5f 49 | — i85 ] 13, 9h 634 [338 [ 9.

LA-Aokool p{Hg)  [Hg) £ &rs) 34 Qg (4o 41 |He) 3R 4y | 43 Ho (43,29

RALVERE ﬂg% () 28 [a33[51) —  (46),29 |ua[WHa (B, —  (39) 3% [220] A4+ 9L _| 88 [309 939 | 6.

REMIYo0l P(1R), 4 go—b 35 (33) 34 435, >4 [4g) 3% (329, 152, 26 |54 B3 |26 35

RAKVERE T2, [5 30 {44 42 [239[4y) UBETRESEE .H_s), 34) >4 (43, 28 M6 | 438 90 | 8Y [8¢6g [toya| &,

VABADUSE <P 28 (20, & (437, 4y (ap, 435, 20 {Hay Y {He 24 (34 30 88, 43 '

TARTU T T|A e M43 4 &xet% e@%" 4y 1494|580 -GFH, 425, 43 lP_r), bz 1294 | 234 98 |#toa [Mos [M205] T
kKool P(H®) 43 [49) 43 (57 48 » 43 (549, 49 4o b5 43 159 e |49, 4¢

TARTY VERRT(3D, 20 >_Q M (H9),  Ihor 149, 2e [363 SAJJ.HQ B> L 20 |35 | 124 — |86 [8%%F [983%] %,
Kool 54, 30 (34, 26 (HO) 38 (5h 136 29 42), 3% [48 33 [23 26 [Ho 29

4|9 4|9 4|79 4|0 4|9 |V H|0 -H4|T H|D




